ANSWER. ey

EXTRA PRACTICE: pH & Concentration Name:
pH = -log [H*] [H*] =10 -pH [H*]x [OH]=1.0x10 14
‘ pOH = -log [OH'] [OH] = 10 -pOH pH + pOH = 14
Part A: Table
Use the equations above to fill out the chart below. Use appropriate units in your answer when necessary.
[H*] pH Acid/Base [OH'] pOH
l.oox 0™  mHcl| 1.00x10*Mm 4.00 A 1.oo x 107° M | 10.00
....................... l.oox 107" M 11.0 B .00 x 07* M 3.00
| l.oox 1078 M 8.00 5 1.00 x 10 M ©.00
O0.03%106 MHcl | ©.0316 M .50 A 316 x 107 M 12.5
0.0079Y MHcal | 0.0019y M 2.10 A .26 x10°*M | 11.90
- 400x10°M | H.HO A 281 x10™°M | 9.60
! ®.050] MNaOH | R.00xI107®*M | j2.70 B 0.050] M 1.30
lr ....................... 4.27x 1077 M .36 A 2.30x 108 M 7.6Y4
2.00 x 1077 M 6.70 A 5.0l x 1078 M 1.30
.f .05 x 107° M NaOH 9.50 x 1010 M 9.02 B .05 x1075 M 4.9%

Part B: Calculations
Solve the following problems by showing all work, including equations used. Use appropriate units in

your answer when necessary.

1) What is the molar concentration of HNO3 in a solution that has a pH of 4.50?
HND; s CH‘] . R -
(o= 10"™ —» [H*]=10745° —b [A*]=[HN0s] =|3.16 x 107" M HNO; |

2) What is the molar concentration of Ca(OH)z in a solution that has a pOH of 3.50?

Ca(on), = Con-] i
. F= 3 |'-.*H A - ""('\‘,
[ow-1= 107" & [04]= 107 —» [or]= [CatoM] = 3.16 ¥ 107" M CalODs |

4 3) What is the pH of a 2.00 M solution of H2S04? (Assume that both H* protons dissociate)
Tenpemchiesd Hy S0y = [H*]

Scerwrio

(TGNORE) Ph = —Xog [H*] — pH= —103 [Q.oom] — ‘]. H
4)  Whatis the pOH of a 0.100 M solution of LiOH?
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& pOH = ~Loa [6H] — pOH* -Log[0.100M] —» [pOH= 1.00]
5) What concentration of H2S04 has a pH of 1.00, assuming that both protons dissociate?
HaSoy: (1*] .
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